CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 2

Haryana Staff Selection Commission

Notations:
1.Options showr in green color and with W iron are correct.

2 Options shown in red color and with # icon are incorrect.

Subject Name: CAT 3 Steno Typist English and Hindi CET Exam
Total Marks: 200

Display Marks: Yes

Calculator: None

Magnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

CAT 2 Steno Typist English and Hindi CET Exarn
Group Marks: 200

CAT 2 5teno Typist English and Hindi CET Exam

Section Marks: 200
Display Number Panel: Yes
Group All Questions: No

Question Number : 1 Question Id : 260269501 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who was the Wali-e-Mewat at the time of battle of Khanwa?
Options:
1 % Alawal Khan

> + Hasan Khan
= % Nahar Khan

, % Zakariya Khan

Question Number : 1 Question Id : 260269501 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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QAT $ FABE F THART FTo-U-HaTd i 172

Options:
| ®% Hode WA

= ® gL @l

4 % STRRET T

Question Number : 2 Question Id : 260269502 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The main armies of Hemu and Akbar met in the field of Panipat on:

Options:
, % 3 September 1556

> # 5 October 1556

= « 5 November 1556

4 % 5 December 1526

Question Number : 2 Question Id : 260269502 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

& R 3FR F FET FAT IEINT F I &F F Fa 75 oA

Options:
, » 5 T&aF=sY 1556
5 % 5 3fgaT 1556

- v 5 #gaT 1556

4 » 5 fwsx 1526

Question Number : 3 Question Id : 260269503 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Birbhan Sadh was the teacher of which of the following sects?

Options:
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, » Kabirpanthi
- % Raidasi
5 « Satnamis

4 % Varkari

Question Number : 3 Question Id : 260269503 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T Iy Aaeag § ¥ &Fa gugy & fers 97

Options:

1 ® Wﬁ
o % Gl

4_&:3113?3'

Question Number : 4 Question Id : 260269504 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Satnami rebellion at Narnaul took place under the reign of:

Options:
1 % Akbar

> % Jahangir

- % Shahjahan

4  Aurangzeb

Question Number : 4 Question Id : 260269504 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

mﬁmmmamﬁ@m

Options:
1, % s
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> ® EEE*E {
3 ® aig;lg-
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Question Number : 5 Question Id : 260269505 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Haryana Government signed an agreement with to install point-of-sale (POS) machines at 3,000
government offices free of cost.

Options:

1 % HDFC Bank
> % ICICI Bank
= % Yes Bank

4 « State Bank of India

Question Number : 5 Question Id : 260269505 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g FR 7 3,000 T FEEET A few dse-3h-ad () AfE # wlitg & &

oo % TTY TF FHST 9 gEae &e g
Options:
| % TIEUHHT dF

o x HIGHHGHINE 3
3 ® I &=

4 ATET BT dF

Question Number : 6 Question Id : 260269506 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Before its recent name change, Gurugram was known by the name:
Options:
1 % Karnal

5 o Gurgaon
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=z % Kurukshetra

4 % Faridabad

Question Number : 6 Question Id : 260269506 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gl & AT 9Rads & 9@, A & R 1§ S Sar a1

Options:

llﬁm

Question Number : 7 Question Id : 260269507 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A horticulture university is being established in which district of Haryana?
Options:
1 « Karnal

- % Sonipat
5 % Gurugram

4 % Faridabad

Question Number : 7 Question Id : 260269507 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g & wiF § S 7 seEEr Seaftemen & wawar oS5 @ 2

Options:

1.« il

z_wm
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4 % TUCTEE

Question Number : 8 Question Id : 260269508 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Haryana was the state in the country to adopt the Mahila Police Volunteer Initiative.
Options:

;% A
x 2nd

il

= w IEI

i8 3

Question Number : 8 Question Id : 260269508 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g ‘Afger Jiore FTaUREr g H WIS Jrom U A =T 2T
Options:

1 ® ?ﬂ‘ilT
o ® Gy
39 Tgell

4_&3#'@

Question Number : 9 Question Id : 260269509 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following is the writer of the drama/story “Phir Wahi Raat™?
Options:
1 % Hanumant Rai Neerav

- % Urmi Krishna
Sukhchain Singh Bhandari

3. ¢

4 % Shiv Kumar Gautam
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Question Number : 9 Question Id : 260269509 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT/ FEET “TRT 981 T & o@e/ W Heateondd # ¥ &9 27

Options:

suga-id T A3

1@
o W ﬁm

FE=a g o=

5w 2

- T FaT Tam

Question Number : 10 Question Id : 260269510 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following is the author/ authoress of the story ‘Pavitra Jhuth®?
Options:

, « Shakuntala Brijmohan

> % Madhav Kaushik
= % Sansaar Chandra

, » Raghuveer Singh

Question Number : 10 Question Id : 260269510 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FEEAT IET S[E F AWH AEH HFATAAT H H FIA 87

Options:

| DI AT
> % AT HIRNE

4 ® wﬁe@-

Question Number : 11 Question Id : 260269511 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Who among the following is the author of the story “Mutthi Me Band Aasmaan™?

Options:
1 % Keshav Chandra Wadhavan

> % Kamlesh Sharma
5 % Sanjay Jain

4 « Anant Sharma Anant

Question Number : 11 Question Id : 260269511 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FET A A 9 HHAA & owes Fraala 7 @ #i g2
Options:
| % T TG FUEA

5 % HHAA AAT

4 v HAD UFT HAT

Question Number : 12 Question Id : 260269512 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the women literacy rate in Haryana as per 2011 census?

Options:
;. ® 61.5%

5 % 63.2%
5 « 66.8%

4 % 68.4%

Question Number : 12 Question Id : 260269512 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2011 T AT F HFHR FATOT H AT HIETIAT & F47 82

Options:

| % 61.5%
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. % 63.2%
5 v 66.8%

., = 68.4%

Question Number : 13 Question Id : 260269513 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The total number of primary schools (2011-12) in Haryana is:

Options:

| v 13,111

o » 14.563

5 w 15348

. w 16267

Question Number : 13 Question Id : 260269513 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gfamor & srufEs Regremt (2011-12) #r Fo FE=T &

Options:

| o 13,111
, % 14,563

. 15,348

, = 16,267

Question Number : 14 Question Id : 260269514 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to the Government of Haryana as of 2011, the gross state domestic product at current prices was rupees.
Options:
;. % 20548232

o o 257792.62

2 % 278791.62
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4 % 296543.62

Question Number : 14 Question Id : 260269514 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gRATOT TFR F HFER 2011 #, HAlEr FAd T Tohel T el 30906 FIA T

Options:

| % 205482.32

- v 257792.62
- % 278791.62

. % 296543.62

Question Number : 15 Question Id : 260269515 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The present Chief Minister of Harvana, Manohar Lal Khattar has been elected from the seat.
Options:
, » Mahendergarh

- % Rohtak
3 « Karnal

4 % Sirsa

Question Number : 15 Question Id : 260269515 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gREoT & FAAE HEIAE AR o WEY die ¥ g+ 91T §l

Options:

1 ® ;Eéaa E.

i igEEIF

4_&1@1-\:”

Question Number : 16 Question Id : 260269516 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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How many seats were won by the BSP in the 2014 Haryana Assembly Elections?
Options:
1.v 1

2_%2

4 % 4

Question Number : 16 Question Id : 260269516 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2014 & gREToT TaI=EeT gAET A T8 (BSP) # fhae € S
Options:
1. ¢ 1

2%2
z % 3

4 % 4

Question Number : 17 Question Id : 260269517 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

As on March 31, 2011 there were two municipalities in the districts of Haryana at Panipat and
Options:
,  Sonipat

> « Samalkha
3 % Sirsa

4 % Kurukshetra

Question Number : 17 Question Id : 260269517 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

31 ARy 2011 & 3EER, ERAOT & AT AR et 7 ar FeRarfoe o

Options:

1_&3'@??1":!?-{
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Question Number : 18 Question Id : 260269518 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

As of 11 February 2014, the total voter strength of Haryana was

Options:
| % 14,594,427

» o 15594427
5w 16,594,427

4 % 17,594,427

Question Number : 18 Question Id : 260269518 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

11 %Il 2014 T gRATOT % Feol Aoararst Hr ger o]

Options:

| % 14,594,427

, v 15,594,427
. » 16,594,427

. » 17,594,427

Question Number : 19 Question Id : 260269519 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Harit Haryana Vishal Haryana® was a campaign launched by the Government of Haryana in July 2017.
Options:
» Dlantation

1
- % cleanliness

5 w digital
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4 % Dbiodiversity

Question Number : 19 Question Id : 260269519 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tha ghamo e g seng 2017 # gRawT @R @R % T @ v HiSTTT o)

Options:

W Lo T
g_ﬁm

Question Number : 20 Question Id : 260269520 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HEMS stands for:

Haryana Management Society
Options:
1 +« Environmental

> % E-waste
o % Eco-agro

, = Ecological

Question Number : 20 Question Id : 260269520 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TESTATE (HEMS) & 39 §:
ghamo HASHe ArEEd
Options:

| v AR
2 ¥ S

= B éﬁ'w
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, % SHIGISET

Question Number : 21 Question Id : 260269521 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

river is NOT a major river flowing in Haryana.
Options:
1 « Chenab
- % Yamuna

5 % Ghaggar

. % Sahibi

Question Number : 21 Question Id : 260269521 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
Er gREoT & Sge A qE A TG

Options:

_ UHAT
o B ]

4%-‘:”%@

Question Number : 22 Question Id : 260269522 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Varaha Tirtha in Jind is dedicated to:
Options:
1 « Lord Vishnu

> % Lord Shiva
z % Lord Brahma

4 % Goddess Saraswati

Question Number : 22 Question Id : 260269522 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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S # IuEr 9 TFaer gata 22

Options:

T TEeoT
1 =

R LCICEREIC
- w SIETT FEAT

Question Number : 23 Question Id : 260269523 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Loharu Fort is situated in which district of Haryana?
Options:
1 % Karnal

- % Kaithal
3z % Palwal

4 « Bhiwani

Question Number : 23 Question Id : 260269523 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T frem gfom & S ¥ Ger & g 2
Options:
1_@3@?1?{

o % U
5 % ToAdd

Question Number : 24 Question Id : 260269524 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Safidon city in the Jind district of Haryana is associated with the:
Options:
1 % arrow bed of Bhisma
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> % death of Shri Krishna
=z % death of Karna

4 « snake sacrifice of Janamejaya. son of Parikshit

Question Number : 24 Question Id : 260269524 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gRamoT F g e #1 Fher o e o 87

Options:

| x TSI Fr ererEar

o A FEUT S A

= % HUT @ fAu=

4fﬁﬁﬂﬁg?,mﬂmw

Question Number : 25 Question Id : 260269525 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to a local tradition, Ekahamsa Tirtha in Jind is associated with Lord who concealed himself here.
Options:

1 % Shiva

-~ % Rama

z « Krishna

4 % Brahma

Question Number : 25 Question Id : 260269525 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TUAT WO F AR, g J sHEAar I sErar ¥ gEEfag &, S T99 F 98T yeoied W ¥l
Options:

1.25%
g_ﬁm

S.Wf
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4_&%@

Question Number : 26 Question Id : 260269526 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to Pitman, how many broad typical sounds are present in English language?
Options:
1 % 26

2 o 36

b
®
LA
o

Question Number : 26 Question Id : 260269526 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to Pitman, how many broad typical sounds are present in English language?
Options:
1 % 26

2 o 36

b
®
LA
o

Question Number : 27 Question Id : 260269527 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘What is the alternative sign for consonant s/z?
Options:

1+« Small circle

> # Bigecircle

5 % Loop

4 % Hook
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Question Number : 27 Question Id : 260269527 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘What is the alternative sign for consonant s/z?
Options:
1 +« Small circle

» w Bigecircle

s % Loop

4 % Hook

Question Number : 28 Question Id : 260269528 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The termination shun is represented by:
Options:
1 % Small hook

> % Circle

5  Large hook

4 % LoOp

Question Number : 28 Question Id : 260269528 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The termination shun is represented by:
Options:
1 % Small hook

> % Circle
5  Large hook

4 % LoOp

Question Number : 29 Question Id : 260269529 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A grammalogue is a/an occurring word.

Options:
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, w Iinfrequently
o u timely

- % varyingly

4  frequently

Question Number : 29 Question Id : 260269529 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A grammalogue is a/an occurring word.
Options:
, w Iinfrequently

5 w timely

5 % varyingly

4  Irequently

Question Number : 30 Question Id : 260269530 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which form of *h’ is used as an alternative to the stroke in the middle of a word?
Options:
1 % Tickh

> % Upwardh

=z % Downward h

4 « Doth

Question Number : 30 Question Id : 260269530 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which form of “h” is used as an alternative to the stroke in the middle of a word?
Options:
1 # Tickh

> % Upwardh
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z % Downward h

4 « Doth

Question Number : 31 Question Id : 260269531 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When is the ‘str’ loop used?
Options:

, % Only initially

-  Only medially
5 % Only finally

4 % Cannot say

Question Number : 31 Question Id : 260269531 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When is the ‘str’ loop used?
Options:

, % Only initially

-  Only medially
5 % Only finally

4 % Cannot say

Question Number : 32 Question Id : 260269532 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Self is represented by disjoined
Options:
1 « circles

» % stloop
5 % strloop

4 % s-s circle
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Question Number : 32 Question Id : 260269532 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Self is represented by disjoined
Options:
1 « circle s

> % Stloop

- % Strloop

4 % s-s circle

Question Number : 33 Question Id : 260269533 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct outline for graphic.

Options:

1. ®

o o

Question Number : 33 Question Id : 260269533 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Identify the correct outline for graphic.

Options:

1
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Question Number : 34 Question Id : 260269534 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Select the option that represents the below sentence in shorthand.
Passing the test will help vou to seek employment as a typist or as a shorthand writer

Options:

1%
No_ A @ e g -
]i b {\«. LN - I ?,_,, L“‘ oat L)
> o
|"|... iz o W -
VLI L S
3 %
\\. o o LRI A
o § 4 _'._L;_._' 1!\?5\‘1"*‘..-*"’
|
4 ®

Question Number : 34 Question Id : 260269534 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that represents the below sentence in shorthand.
Passing the test will help you to seek employment as a typist or as a shorthand writer

Options:

\"" b r NN g £ty I\;W"ﬁ l;.—--"’

1%
N s L R e SR -
];I £ 1‘1\'1 L t‘:’ : Lh L AL
i
o P AR
'l , N - TR = o #.‘_,-"'
=z B
I\' I:| v L] 1
Sk 2 gl e N e
|
4 ®
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Question Number : 35 Question Id : 260269535 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that represents the below sentence in shorthand.
I wish you all success in your future assignments

Options:
1 i 3 3
_;I [ S o~
i1 1' '\-.Q.I:
1%
B S0 7 T <
Fy —r _':!
i
R e :
_J_;_;_:_\_k: ) P
el
5.
(% 5
Af'_ TN o Mk, (! Y = o
Sy
4

Question Number : 35 Question Id : 260269535 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that represents the below sentence in shorthand.
I wish you all success in your future assignments

Options:
1 L] 3\ 1
_;_I" d o e L
. il
i %
Bt S . M N L—
& \___h‘ e
o> R
B e .
ol —alfn A { ) e
=
R
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-!|I 5 ___.__“I -L-..‘

.H\Hﬁ

4

Question Number : 36 Question Id : 260269536 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TS /T gHU GRS qdI:

S

.

Options:

1_%A

Question Number : 36 Question Id : 260269536 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T A /T gHU TeT a4

Mt

e

Options:

1_%A
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Question Number : 37 Question Id : 260269537 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FUT, &, 9T FT U T vE=:

s

D.

Options:

1 % A

2_%8

3_%':

4 v D

Question Number : 37 Question Id : 260269537 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘FOT, &, 9T T e T TgT:

e
A.
|
C. £
\
D.
Options:
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Question Number : 38 Question Id : 260269538 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Tg T LT e ey TE=:

"

i <
c. _4

D.

Options:

I_RA
2_%5

3_%':

Question Number : 38 Question Id : 260269538 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TAE FT TeT e By Ig==;
Y |

o

c. _ 4
0. ]
Options:
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4« D

Question Number : 39 Question Id : 260269539 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T [

Options:

l_wag?rﬁra‘nr

o Igd | S

3% agag’rﬁm

Question Number : 39 Question Id : 260269539 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T [

Options:

l_wag?rﬁra‘nr

Question Number : 40 Question Id : 260269540 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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TIRUT S5t & e I F HJAR Fel=a g H 7 TS FF 7r FT 7 aqige?

Options:
1.&

g_ﬁa
S_QE

4 % d

Question Number : 40 Question Id : 260269540 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TIRUT S5t & e I F HJAR Fel=a g H 7 TS FF 7r FT 7 aqige?

Options:
1.& P

2_33?-.'
3_23?

4.$3Fr

Question Number : 41 Question Id : 260269541 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T F 3ead H ofT Ay 3 ar Tl & @ 7 w=r @fgee

Options:

| o YECT & Tge Ueq B A W FHET G

, w 2SI & Tger WG A T & FE §

L TR AT

Question Number : 41 Question Id : 260269541 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

oredtel F 3ed # ofy Ay 3 ar Tl & @ Far w=r ofgee

Options:
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| o T & g Ueq H A W FE G

. % STEGIY & UgH UG H I H FC &
2 R ?—I‘ﬁﬂhﬁé’

L TR AT G

Question Number : 42 Question Id : 260269542 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T & 3eg H @I W T T 3 1T AT TRe?

Options:

o« WA AAF AT AT WG

.« I # FAE Iea # o s WS

S_Jmﬂ?ﬂﬁﬂc&dﬁaﬁg{;ﬁl Cr gy

- forar & 9uR =To ;P A S

Question Number : 42 Question Id : 260269542 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T & 39 & I W @I H A FT AT Aige?

Options:

o« T F e Oew A9 ww

.« foFar & 3ifaw g9 Froamar W S

Slﬁ?mﬂ?éﬁﬂc&dﬂﬁ%ﬁ;m FT g

-~ foar & gum == # g W g

Question Number : 43 Question Id : 260269543 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 2




CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 2

Options:

Question Number : 43 Question Id : 260269543 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ST TTURUT Tiaca oeg Reg # gGgEe?

Options:

Question Number : 44 Question Id : 260269544 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Af&sd @1 qur fRuAEeEr e gewr o seer?
%k DN

© Tt

Options:

1_%#;
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Question Number : 44 Question Id : 260269544 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Afesrerw @ U7 ATATER e weR o Seen?
A O

[ e

Options:

1.WA

Question Number : 45 Question Id : 260269545 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

quT fATATER ST FT Tl Tgeor FI=aL 40|
Options:

- % WTUROT 97 FI
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i £
4 % Hd WH FE

Question Number : 45 Question Id : 260269545 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

quT fRTAEER S FT Ter geir FI=aT TaT]
Options:

- % TRUT 9F F1

Question Number : 46 Question Id : 260269546 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Select yvour answer from the options given.

National Institute for Health and Care Excellence announced on Tuesday that it would be revising
guidelines on diagnosis and management of chronic fatigue syndrome.

Options:
1w The; the; the
5 % The; an; an

5 % The; the; an

4 % A the;the

Question Number : 46 Question Id : 260269546 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suifable articles. Select yvour answer from the options given.

National Institute for Health and Care Excellence announced on Tuesday that it would be revising

guidelines on diagnosis and management of chronic fatigue syndrome.

Options:

1w The; the; the
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» % The;an;an
5 % The; the; an

4 8 A the; the

Question Number : 47 Question Id : 260269547 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Select your answer from the options given.

When it comes to adult penguins. they enjoy nothing more than bracing dip in chilly Southern
Ocean.

Options:
, = an;the; the

5 % the; the; the

5 % the; the; a

4 the; a; the

Question Number : 47 Question Id : 260269547 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Select vour answer from the options given.

‘When it comes to adult penguins, they enjoy nothing more than bracing dip in chilly Southern
Ocean.
Options:

| % an the; the

5 % the; the; the
5 % the; the; a

4  the; a; the

Question Number : 48 Question Id : 260269548 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable modal verb. Select vour answer from the options given.

"Give a girl the right shoes and she conquer the world." a film star once said.

Options:
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1 % should
5 % may
3 o can

4 % will

Question Number : 48 Question Id : 260269548 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable modal verb. Select your answer from the options given.

"Give a girl the right shoes and she conquer the world." a film star once said.
Options:
1 % should

o % may
3 v can

4 % will

Question Number : 49 Question Id : 260269549 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Read the sentence given below and fill in the blank with an appropriate relative pronoun, select your answer fiom the
options given below.

The student the teacher selected for the English Olympiad is my best friend.
Options:
1 % who

> % which
=z % Wwhose

4 « Wwhom

Question Number : 49 Question Id : 260269549 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Read the sentence given below and fill in the blank with an appropriate relative pronoun, select your answer from the
options given below.

The student the teacher selected for the English Olympiad is my best friend.
Options:

CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 2



CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 2

1 #% who
> % which
= % Wwhose

4 « whom

Question Number : 50 Question Id : 260269550 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The passage below has been given in four parts as options. One of the parts contains an ervor. Select the option that has
the error.

Options:

, % Creatures that live in the deep ocean close to the seafloor

5 % can blend in with sand or rocks, or hide in coral.
- % Inthe deep ocean it is often pitch black anyway

4 « and predators lacks eyes, so being invisible is not necessary.

Question Number : 50 Question Id : 260269550 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The passage below has been given in four parts as options. One of the parts contains an ervor. Select the option that has
the error.

Options:
, % Creatures that live in the deep ocean close to the seafloor

5 % can blend in with sand or rocks, or hide in coral.
- % Inthe deep ocean it is often pitch black anyway

4 « and predators lacks eyes, so being invisible is not necessary.

Question Number : 51 Question Id : 260269551 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below select the one that has the correct spelling of the highlighted word.

Options:
1. %

While the bees are queiscent early in the morning and in the evening, they are overactive in the middle of the day.
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> #
While the bees are quiesent early in the morning and in the evening, they are overactive in the middle of the day.

3 W
While the bees are quiescent early in the morning and in the evening, they are overactive in the middle of the day.

-
‘While the bees are quiesceint early in the morning and in the evening, they are overactive in the middle of the day.

Question Number : 51 Question Id : 260269551 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below select the one that has the correct spelling of the highlighted word.

Options:
1 &

While the bees are queiscent early in the morning and in the evening, they are overactive in the middle of the day.

o #
While the bees are quiesent early in the morning and in the evening, they are overactive in the middle of the day.

2
While the bees are quiescent early in the morning and in the evening, they are overactive in the middle of the day.

4 %
While the bees are quiesceint early in the morning and in the evening, they are overactive in the middle of the day.

Question Number : 52 Question Id : 260269552 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that offers the correct synonvin of the highlighted word in the sentence given below. Pay attention to the
meaning of the highlighted word in the context of the sentence.

The reason sleeping sickness is so deadly is that it causes its most severe symptoms, such as confusion, hallucinations and
poor coordination.

Options:
|  Unsteady

> % Affluent
3z % Uncertain

4 % Indigent

Question Number : 52 Question Id : 260269552 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the option that offers the correct synonyin of the highlighted word in the sentence given below. Pay attention to the
meaning of the highlighted word in the context of the sentence.

The reason sleeping sickness is so deadly is that it causes its most severe symptoms. such as confusion, hallucinations and
poor coordination.

Options:
| « Unsteady

- % Affluent
=z % Uncertain

4 % Indigent

Question Number : 53 Question Id : 260269553 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that offers the correct synonvim of the highlighted word in the sentence given below. Pay attention to the
meaning of the highlighted word in the context of the sentence.

The tsetse fly's mouth has tiny serrations on it that saw into your skin on its way to suck out your blood.
Options:

; % Espy
> o Cut

= % Look

4 % Perforate

Question Number : 53 Question Id : 260269553 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that offers the correct synonvin of the highlighted word in the sentence given below. Pay attention to the
meaning of the highlighted word in the context of the sentence.

The tsetse fly's mouth has tiny serrations on it that saw into your skin on its way to suck out your blood.
Options:

, % Espy
o o Cut

z % Look

4 % Perforate
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Question Number : 54 Question Id : 260269554 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select from the options given below the one that employvs the correct use of conjunction.

Pay attention to what your teacher says. You will not understand the lesson without it.
Options:
. You will not understand the lesson unless you pay attention to what your teacher says.

-~ % You will not understand the lesson if you pay attention to what your teacher says.

- % You will understand the lesson unless you pay attention to what your teacher says.

, % Youwill understand the lesson if you don’t pay attention to what your teacher says.

Question Number : 54 Question Id : 260269554 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select from the options given below the one that emplovs the correct use of conjunction.

Pay attention to what your teacher says. You will not understand the lesson without it.
Options:
, « Youwill not understand the lesson unless you pay attention to what your teacher says.

> % You will not understand the lesson if you pay attention to what your teacher says.

- % You will understand the lesson unless you pay attention to what your teacher says.

4 % Youwill understand the lesson if you don’t pay attention to what your teacher says.

Question Number : 55 Question Id : 260269555 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below select the one that has the prepositions placed correctly to form a proper sentence.
Options:

1 ®

Given that the only two living populations from giant tortoise are island dwellers. it would be understandable to assume
that the reptiles only become whoppers if they are confined into islands for long periods of evolutionary time

o W
Given that the only two living populations of giant tortoise are island dwellers, it would be understandable to assume that
the reptiles only become whoppers if they are confined into islands from long periods of evolutionary time

g ®

Given that the only two living populations of giant tortoise are island dwellers, it would be understandable to assume that
the reptiles only become whoppers if they are confined in islands for long periods of evolutionary time
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4
Given that the only two living populations of giant tortoise are island dwellers, it would be understandable to assume that
the reptiles only become whoppers if they are confined to islands for long periods of evolutionary time

Question Number : 55 Question Id : 260269555 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below select the one that has the prepositions placed correctly to form a proper sentence.

Options:
1 ®

Given that the only two living populations from giant tortoise are island dwellers. it would be understandable to assume
that the reptiles only become whoppers if they are confined into islands for long periods of evolutionary time

o W
Given that the only two living populations of giant tortoise are island dwellers, it would be understandable to assume that
the reptiles only become whoppers if they are confined into islands from long periods of evolutionary time

T %
Given that the only two living populations of giant tortoise are island dwellers, it would be understandable to assume that
the reptiles only become whoppers if they are confined in islands for long periods of evolutionary time

4
Given that the only two living populations of giant tortoise are island dwellers, it would be understandable to assume that
the reptiles only become whoppers if they are confined to islands for long periods of evolutionary time

Question Number : 56 Question Id : 260269556 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TR ereg H WY B
Options:

. o F E

, # ST G

Question Number : 56 Question Id : 260269556 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

THAEOT oeE H FfY &
Options:

1 ® Wﬁ
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- v e 3

, « ST EfE

Question Number : 57 Question Id : 260269557 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘gfaay g H TAF ¢
Options:

1 ® r.:

5 o HeOdT §1F

3 ® qdcd

i » ST

Question Number : 57 Question Id : 260269557 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘gfaaY 9 ¥ THT &

Options:

1 B ra

> HeTdl o
3% =B

iw SN

Question Number : 58 Question Id : 260269558 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘mﬁ%gﬁmﬁr#%w&mgﬁm

Options:
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. » BEEA
- » BEAARA
, v EEIEd

Question Number : 58 Question Id : 260269558 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘T o forar g3 T & AT U 2reg @

Options:

1 % @EdEl
z.ﬁmﬁ
5 % GEATARA
4 v FEAEE

Question Number : 59 Question Id : 260269559 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T afeeT ¥ ¥ i9-9r 9 '9ag’ e &1 TATISr=r &5 27
Options:

1.8 CIn
- B %ﬁ
= % 3=l

4. & T

Question Number : 59 Question Id : 260269559 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT # ¥ SI9-91 e ‘99 e T TATA=T el 27
Options:

1_&&&
z.wm

CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 2



CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 2

= % 3=l

4. & T

Question Number : 60 Question Id : 260269560 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fFefofla & a9 o= = 82

Options:
1 #® H=T

z o f*i

3_%3%311

4 % T

Question Number : 60 Question Id : 260269560 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

frafof@a & ia-ar o e 82

Options:

| % TG

= W ﬂi

g_wm

4 % FAE

Question Number : 61 Question Id : 260269561 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FHEAA eg & FEE &
Options:

| % FeATEr

o v TS

z # Hl=ad
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4 ® 1% 2

Question Number : 61 Question Id : 260269561 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FEAA weg F TEHF T

Options:

| % §eATEer

3_&?%3(_{
4 *® Jf

Question Number : 62 Question Id : 260269562 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T 7 ¥ #i9-31 o= ‘gms 27
Options:

l-ﬁa(‘-f;r

s 5 T

Rl
2w 2

4#@3

Question Number : 62 Question Id : 260269562 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T 7 ¥ #9391 o= ‘gmq 27
Options:

1.*%"38“-\?'T

s 5 T

R E
Zow 3

4_&;@3
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Question Number : 63 Question Id : 260269563 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HHAT T & T 39gea Jg=w &

Options:

| g ot
. % gl HAldel
. % OIg & Tl AT

L % ool Hrell gler

Question Number : 63 Question Id : 260269563 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

WHAT T F o0 s9ged JqRET 8

Options:

| TET e
. % gl AT
. w OIg & T TAATEA

4, w ol 9rel gl

Question Number : 64 Question Id : 260269564 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIF-TT M TET &7
Options:
1 ® Hdd

o> % 9ol

3 Eﬂ:

4_&3':'{_"?

Question Number : 64 Question Id : 260269564 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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FIF-TT e TET 87
Options:
1 ® HaA

o % Hdel

3 W Eﬂ:

4_?.3':'{_'!?

Question Number : 65 Question Id : 260269565 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ol & ¥ Fi9-97 g T & 3T F hed A6l HAT?

Options:

1 & 2

o ® o490

T ® 2

4.«

Question Number : 65 Question Id : 260269565 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f=fofa & ¥ #Fi9-91 g ‘T & 3T F hFT Agl HAT?

Options:

1. ® 2

o ® o0

Question Number : 66 Question Id : 260269566 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Ifl_a+1__b+1_c= 1,.thenab+bec+ca="

a 7] c

Options:
1 % a’b+bc+cla

> % —4dabc
= « 4dabce

4 % a’b?c?

Question Number : 66 Question Id : 260269566 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

7 -|-1_b-|—1:= 1 g arab+bc+ca=2?

! b

Options:
1 % a’h+Dbc+cla

- % —4dabc
= « 4dabce

4 % a’b?c?

Question Number : 67 Question Id : 260269567 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Priya’s age is f the age of her father. After 10 years. her age will be half of the age of her father. The average of present
age of father and daughter is:

Options:
1 35

o W 30
T W 33

4 #® 32

Question Number : 67 Question Id : 260269567 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Rram & 3y 3w Riar F 3mg 1 S ¥ 10 T A FEA HY FES Rar B Hg F My @ e
frar i T Fr FaF= g w7 e w4 R

Options:
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1 v 39
o> R 30
=z ® 33

4 R 32

Question Number : 68 Question Id : 260269568 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

X borrowed T 12.000 from Y at a rate of 6% per annum simple interest. X returned ¥ 15.600 to Y. What is the time
taken by X to return the money to Y?

Options:

4 % Oyears

Question Number : 68 Question Id : 260269568 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

X, Y ¥ % 12,000 TYUROT ST HT 6% FNF T W IUR oiar &1 X, Y & % 15,600 a1 g1 X @ Y &
O 998 Fa & o T 3 57 Faar 7

Options:

, %= 5.5 99
o v 5 AW
> % 45 99

g = BEI'éf

Question Number : 69 Question Id : 260269569 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Germany, the female population is 55%. If the total literacy is 58%. then what is the female literate population given that
the male literate population is 80%4?

Options:
1 % 45%
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> % 42%
5 % 30%

4« 40%

Question Number : 69 Question Id : 260269569 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

S &, Afgensit Fr SFEEar 55% g1 A T Wendr 58% 7 AR GOV WeW SJawedr 80% & I g, ar
AfgeT TR FTTEEAT H Sfaed Far 22
Options:

% 45%
o % 42%
2 % 30%

4 v 40%

Question Number : 70 Question Id : 260269570 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ABC is a right angled triangle with AB=x, BC=x + 1, and C4 = 5. Find the value of x if 5 is the hypotenuse.
Options:
1 ® 4

2.%5

Question Number : 70 Question Id : 260269570 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ABC w& FrehoT et & of & s AB=x.BC=x+1, iR CA=5§ I &7 5 ¢ ar x &1 A=
AT F=AT

Options:

1 & 4

o W 5

3 & 3
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Question Number : 71 Question Id : 260269571 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A bag contains 50 paise, 25 paise and 10 paise coins in the ratio 3 : 5 : 4 amounting to T 63. Find the number of 50 paise
coins.

Options:
1 ® 163

4 o 60

Question Number : 71 Question Id : 260269571 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TH AT A0 IR, 685 W AR 10N F FR AT U@ 3 : 5 : 4 8 Oaa e T 63 81 50 99 &
et &7 g&=r Braer &7
Options:

% 163
» % 175
2 % 150

4 v 60

Question Number : 72 Question Id : 260269572 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A bus covers 78 km in 2 hr 10 mins travelling at half of its actual speed. What is the actual speed?
Options:

1 % 70 km/hr

> « 72 km/hr

3 % 75 km/hr

4 % 65 km/hr

Question Number : 72 Question Id : 260269572 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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TF FH HOA IEArEE A § Imh A W T g 78 Frender & gl 2 u¢ 10 e F 7 w2
SHFT AEITEE AT F4AT 272

Options:

, « 70 e/ ger
. v 72 Breder/ver
- % 75 TeReldEE/=eT
4 » 65 Trersey/uer

Question Number : 73 Question Id : 260269573 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Working 8 hours per day. A can complete a task in 12 days. while working 10 hours per day. B can complete the task in
8 days. The number of days to complete the task. if both work together for 8 hours per day. is:

Options:
1 % 11/60
5 o 60/11

5 % 20/11

4 % 11/20

Question Number : 73 Question Id : 260269573 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A TF HE H A 8 U HR F gT 12 A A W F FhaT g, A« B I F FH ddiea
10 &€ Y X g 8 Rl # U T FWehcl 1 T 9 AT Ao 8 HE H HA §, d 3H HY
P W F F B B R TR

Options:

. = 11/60

- « B60/11

2 % 20/11

4 % 11/20

Question Number : 74 Question Id : 260269574 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Two varieties of rice - rice I and rice IT - is mixed in a ratio of 5 : 3. The ratio change to 5 : 7 if more 16 kg of rice II is
added. Number of kg of rice IT in the new mixture is:

Options:

1.+ 28

o W 29

b
®
I
LA

Question Number : 74 Question Id : 260269574 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

arae T & BFEAT - T | R AEe - 5 3 % e & B B smer g1 ofg 9w 1
16 Treitem AT fJsor & Ber & S €, & 3og seee) 5 7 @ Sar g1 7 s F 9we ||
AT g TReEH 22

Options:

1 v 28

o> R 29
=z ® 27

4 # 25

Question Number : 75 Question Id : 260269575 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

M. X sold a toy for T 423 at a loss of 6%. To earn a profit of 8%. what price should it be sold at?

Options:
1 % T480

o % T484
5 & T 486

4 % T 485

Question Number : 75 Question Id : 260269575 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. X ve Tl &t 6% & @i 9 T 423 3 =T €1 8% 1 o Hiwid aia & forT, 39 O qew
OT =T ST I1g0?

Options:
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. % T 480
, % T 484
5 v T 486

, = T 485

Question Number : 76 Question Id : 260269576 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A glass slab is suspended in air by a spring balance. The reading of the balance is 1.3 kg. When the piece is submerged in
water, the scale reads 0.8 kg. The density of the glass slab is:

Options:
g » L1X 10° kgm_3

- % 18X 1D3kgm_3

5 o 26X 10° kgm_3

4 % 32X 10° kgm_?’

Question Number : 76 Question Id : 260269576 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FE F TF ToiF gaT H FAAGH gal & FTCH gam g1 Jom FT wraare 1.3 e g 99 7 a5 g 9 A
&1 g A e & Teare 0.8 herns Ear §) F= F TolF 1 gded gem
Options:

1 ® 1.

10° TrdEmsE HArer?

®

x

> % 1.8 x 10° fFarems e ?

5 v 2.6 x 10° TheEms Al ?

®

10° fFeEmTE #Hegs

.4

. 3.2

Question Number : 77 Question Id : 260269577 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 2



CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 2

An object is thrown vertically upwards with a velocity of 70 m/s. The magnitude of displacement of the object in 12 s is:
(take g =10 m-fsz]

Options:
1+ 120m
> % 245m

= #® 370m

4 % 410m

Question Number : 77 Question Id : 260269577 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vE FFG 70 HE/WEHE F AT F 3LA T F FHR A AT FH A § 12 FFs F 78g F e
T TRATUT ZIE:

(g =10 Hrex/TFs2)
Options:
v 120 #reT

Question Number : 78 Question Id : 260269578 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object is placed on the principal axis of a convex lens at a point between its optical centre and focus. The image
formed by the lens is:

Options:
1 % Real and Diminished
» % Real and Highly enlarged

z % Virtual and Diminished

4  Virtual and Enlarged

Question Number : 78 Question Id : 260269578 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 2



CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 2

TS TG 3oT oF F HET T W TS THIF $ HT BHF F AT TF &g W W@ S § FE
IR ST TR gTafEe g
Options:

- arEdfaes R gHiEd

, » dTEAtas AR HOF F=T
e amsTar A FEfa

, » HTHTET 3R FET

Question Number : 79 Question Id : 260269579 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ray of light passes from medium 1 to medium 2 and then into medium 3. In passing from medium 1 to 2 and from
medium 2 to 3. the ray bends towards the normal. If vq. v, and v; represent speeds of light in medium 1. 2 and 3

respectively, then:
Options:
1wl VS XN

> ® V27 V32V
3 % V3Z V1>V

4% V22V V3

Question Number : 79 Question Id : 260269579 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

errel @ T fRT0T ARTA 1/ Aredd 2 # AN O Aeww 3 # g TG g1 AreTH 1 ¥ ATenH 2
# AR AremA 2 F AT 3 7 TR G 0T T A 3R g3 21 3 vq, vo AR vy Fems 1,
2 3T 3 7 FHIA: FeRrer Fr Ay T g, an

Options:

Vi1 = V3 = V3

1. ¢

> % V27 V3~ ¥y
s % V3= Vi = V3

4% V2> V1> V3
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Question Number : 80 Question Id : 260269580 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object, 1.4 cm in size, is placed 20 cm in front of a concave mirror of focal length 15 cm. The image formed is:
Options:
, % Erectand Enlarged

> % Erect and Diminished

-  Inverted and Enlarged

4 % Inverted and Diminished

Question Number : 80 Question Id : 260269580 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1.4 TEHET MFR # TF ITg 15 I Blerdl oeals aTd ITdel guoT & AH 20 TEART T
I | A T giafeE gem:

Options:

| » Grem AR FS

- Hrer AR wglRa
. » 3% 3R F3r

4 ®

Question Number : 81 Question Id : 260269581 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following organic substances dissolves in water due to hydrogen bonding?

Options:
1 % Carbon tetrachloride
- % Ethane

5 % Methane

4 « Glucose

Question Number : 81 Question Id : 260269581 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fefof@a & ¥ #la @ Fefae A s sieser & FRoT 9= # goT AT 872
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Options:

|« FEA TITFANTSS
2_&312'93?[
glwﬁ'l'ﬂ?l'

TR

W e

Question Number : 82 Question Id : 260269582 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following compounds has the functional group aldehyde?

Options:
1 « Ethanal

> % Ethanol
= % Ethanoic acid

4 % Dimethyl ether

Question Number : 82 Question Id : 260269582 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e 7 ¥ e 9= &7 Sharcas aqg tfesgss g 82

Options:

Question Number : 83 Question Id : 260269583 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following represents the mass of one mole of zinc atoms?

Options:
1w 65 gram
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5 % 0.5 gram
5 % (.65 gram

4 % 0.065 gram

Question Number : 83 Question Id : 260269583 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ffof@a & @ #ia @ weT &% ] & o A F geuAe g g7

Options:
{ « B65 IH

o B 65 arH
- % 0.65 TTH

. % 0.085 ZTA

Question Number : 84 Question Id : 260269584 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The functional group carboxylic acid is represented by which chemical formula?

Options:
i « -COOH

= w 'NH:}_
o #® -0OH

4 B -CIN

Question Number : 84 Question Id : 260269584 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

forarcs wag FEifEFatos e & 5w Taafas g5 ganrr genar ST g2

Options:

. v -COOH

> #® 'NH2

= B -OH
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4 #® -CN

Question Number : 85 Question Id : 260269585 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the number of carbon atoms present in 2-Methyl propane?

Options:
1 ® 3

o« 4

Question Number : 85 Question Id : 260269585 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2-fFramse S # 39TPua FEe RATIHT B FET =T EE?
Options:

1_%3
o v 4

3_%5

Question Number : 86 Question Id : 260269586 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following musical instrument did Ustad Bismillah Khan play?
Options:

1 % Sitar

> « Shehnai

z % Sarod

4 #® Santoor
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Question Number : 86 Question Id : 260269586 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3Tae ATEAeag o9 Fa 7 ¥ FiT @ Iy I7 599 972

Options:

1 ® ﬁ(_'nT
2_,._.;«31%?-11?
T ® '\':Wja'

T

4 8 U

Question Number : 87 Question Id : 260269587 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What was the approximate time period of the Vedic Era?

Options:
; % 1700-1500 BCE
5 « 1500-500 BCE

- % 3300BCE

4 % 2000BCE

Question Number : 87 Question Id : 260269587 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

afees T @ HgATAT FHEATEY Far o6

Options:

1700-1500 &1 &

1"

, » 1500-500 ST =

3300 s&T &

i

, » 2000 &6 @

Question Number : 88 Question Id : 260269588 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Where are Alpine Forests found in India?

Options:
, % Satpura Range

- % Aravalli Range

5 % Western Ghats

4 « [Eastern Himalayas

Question Number : 88 Question Id : 260269588 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T H o9 a7 Fal I JT 87
Options:

. TEge #r TEifsed

L
, w 3EeT Hr TErEar
T B qf?ﬂﬁl'm

CCIRELIED

4. ¢ &

Question Number : 89 Question Id : 260269589 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In India, which is the largest and oldest bank?
Options:

1 % Indian Overseas Bank

> « State Bank of India

= % Canara Bank

, % Punjab National Bank

Question Number : 89 Question Id : 260269589 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT H, FIH §97 3N FIH T dF FieT T g7

Options:
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|« ST IS dF

zgmméﬂ;

4 % TSN ALAAT dh

Question Number : 90 Question Id : 260269590 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The "point of order” in a parliamentary practice involves:
Options:
, « Drawing attention to violation of rules in a deliberative assembly meeting

-~ % Drawing attention to violation of time in a deliberative assembly meeting

- % Drawing attention to violation of speech in a deliberative assembly meeting

, = Drawing attention to violation of colour code in a deliberative assembly meeting

Question Number : 90 Question Id : 260269590 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T HEEIT 9ihar T “FaAmfea” # afde &
Options:
N, 2

T Taeier RusasT &1 955 & TTaAr & Ioausd F AT e HRNg =T

o w T TERehe RuagsT & do5 & 70T & Seoud $F 3R AT HFHET FIAT

- » T Teeler ugs fr S F AW0T F Ioawd Hr HT AT HFET FIAT

4 %

e =l furagsr & 8% & TT F15 & 3oagd #7 3N &0 HhNg F:ET

Question Number : 91 Question Id : 260269591 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following gas is the most prevalent greenhouse gas?

Options:
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1 % Methane
% Nitrogen
= « Carbon dioxide

4 % Carbon monoxide

Question Number : 91 Question Id : 260269591 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TafefEa & @ #ia @ 39 gow 30« gyaa FagEy 3w g2
Options:

1 ® ﬁ'l'ﬂ?!'
. E[E;FIEIE
. » PET SEAFEES

.« FEF AAIHFASS

Question Number : 92 Question Id : 260269592 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What does the "SCHUEBERFOUER" festival celebrate?
Options:
, « StBartholomew day in Luxembourg

> % StPeter's day in Rome

- % St Thomas day in Spain

, % StPhilip's day in Germany

Question Number : 92 Question Id : 260269592 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

“SCHUEBERFOUER” oilgR 5T &5 & 1T A1 22
Options:

| v TEFEE # He s fEwm
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. » UF # T 91X feaw
- » T H He giag fEw
, » FHeT H Te ew femw

Question Number : 93 Question Id : 260269593 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Lacrosse. which was recently introduced in India. owes its origins to which community?
Options:

1 % Celtics

- % Maori

z % Africans

4 « Native American - Indians

Question Number : 93 Question Id : 260269593 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ﬂm,ﬁﬂmaﬁmﬁaﬁmmt#maﬁﬂﬁwﬁ?h

Options:

1 ® m
> B ﬂTE-ﬂ'fl’
z R m

4_1{_’;&3&%-%

Question Number : 94 Question Id : 260269594 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Hindi Diwas is celebrated on which day?
Options:
, w 10 September

5 o 14 September
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3z % 14 November

4 % 10 November

Question Number : 94 Question Id : 260269594 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e aw &g & Aamar =g 22

Options:

> v 14 fEasT

Question Number : 95 Question Id : 260269595 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the study of the universe known as?
Options:
,  Cosmology

> % Aeronautics

- » Cosmetology

4 % Aerostatics

Question Number : 95 Question Id : 260269595 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ﬁ??ﬁ?: T HETTA FAT Fgolldl %‘7
Options:

| » FEFE TE=

-, % SATST &=
- » Tledwwars Fae
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4_2@3@%%31?

Question Number : 96 Question Id : 260269596 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Find the odd word.
Options:
1 « Reader

5 % Reporter

3 % Editor

4 % Publisher

Question Number : 96 Question Id : 260269596 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HTIT =S AT FL
Options:
1« Yok

Z.qu

5 % HIlGeh

4 % FRTAHR

Question Number : 97 Question Id : 260269597 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Complete the analogy.

AEP :EIP:: 10T :
Options:
1 8 UVW
o o OUT

3 % UWX
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4 » OPQ

Question Number : 97 Question Id : 260269597 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T G F
AFEP : EIP : : 10T :

Options:

. % UVW
» ¢ OUT
2 % UWX

4 % OPQ

Question Number : 98 Question Id : 260269598 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the set of letters that completes the first word and begins the second word.
HAND(--) ENGTH

Options:
1 ® ED
- R EL

S_QER

4.« LE

Question Number : 98 Question Id : 260269598 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HeT & 3H WS & =TI H{ AT Iger A P A HLAT & A g A T 3RFH FLam &
HAND (--) ENGTH

Options:

1 ® ED

o B EL

z ® ER

4« LE

CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 2



CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 2

Question Number : 99 Question Id : 260269599 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the set of letters that. when added as a suffix to each letter in the given image, forms a meaningful English word.

D

)

T
H
M //'
P
Options:
1 % EAR
2 v INT
= % ARK

g4 W IER

Question Number : 99 Question Id : 260269599 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IFERT & 3F WS 1 TUA F{ o0 BT F 3ee-wHg F WY T F T A S8 T W T FJAr
IS oA T

D

)

.
H
M
P/’/'
Options:
. = EAR
> « INT
- % ARK

. % IER

Question Number : 100 Question Id : 260269600 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the number that fits in the below number series.

5.6, 14, 23, 40, , 109

Options:
1 *® 60
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Question Number : 100 Question Id : 260269600 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

39 TEAT F F4S H A A" & T HT@e & forv 393 @

5, 6, 14, 23, 40, ., 109
Options:

1 R 60

o> R 63
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